SHERTITO
L=1.50m

5cm B
m (3. 60%3)

S

.8

EHR1 SHEE1E BT E X

e <) e
1= %g m s Es =5 &5 °
28 = 59 59 53 == w200 B o %220
Eoi &0 ) 5 &2 g2l ° 0 5[ 700 '
& SFEIFYFG (> 58—) L1100 & # | M3 & & 106018 & NO. 5
o2 NO. 4
-= = o
) %220
HEIFIO \Bpp 1L o1 pon ) HEBIHO §4%2—5H@ 2on &
Al o = m cm —_ cm
[=8. 50m L=4.50m Z4% 1=11.51m (15cmifE) SHX2® 150m & £ |
L=2. 80m (0. 90%2+0. 50%2) |
1
P4 o
S=
=R HEIRIG (25—
L& L=110. 05m
| &
]No.s
| £320 /
|
| kit |
(0.70+0. 95) !
Nd?f
FEIFYFO (4> 5 —) L=7. 10 f
PI0!
i 5 L 4l
T | AT h—IL
T T U #
s S S v al
i |ee £ =OUE W m X > i HEA
e g8 85/ OFwo  F00 2N = =
LI 0 (715 B &) . Te
HL H ALY S : :
& / /’% 71( m
BT (7t B EASCI3, t=50m) R R K
N | NTT >hR—IL

SHARQ 150m # i
L=2. 60m (0. 85%2+0. 45%2)

TS54 La— b (PK3)

SBERID
L=1. 05m FREEZRIE T M30-0, t=3cm)

T = # 4 @M-DBEERLE

I £ 15 /| BETEE—THE - SEHAN (GIEPFEROmE)

m 4| BR SEERTEX R 1/250
B R @m £ F K &R & 1/5




iRl SHEEIHRFK

[ =223. 35m
435 | 8.30 ) 6.50 3.50 6.10 0.909 60,140, 1.80,1.90,_ 3.8 060 440 7.10 L 3.60 | 5.15 6.55 . 4.70 ,
3 8 3 8 = 3 o S
w’ = s g T W o s 0 S
+ + + = + + + + + =
2 SE ' 2 8 g ' '
5 = \0.2 N omlnos Y oaw v lyo 4 P - | ml
l 1 E___f [T ;ET g T E - e T T === _J:.T_ __2¢N05
8 8% 2 N S S288 A 8\‘ 3 8 8 ] |
N - L ] ] ] I——‘\\ ] ] ] ] 1 —
N N 3.00
N
N >
AN
N
N 7/
v
=223. 35m
0.70
L. 40 6. 20 0.851 60, 7.15 0.400.904 59 20.00 12.20 6. 55 1.25 4.95 1,55\ ,_2.10 5.30 5. 40
gl 7
[=3 ¥y [Xe3
e I gllels S 2 2
mlwo.s el w A ::éﬁ S o s g ~
Sy +H I+ 1+ = = + + = +
sl 9 ~_; — —
| IS N /® m_m_umonos . i . 3 3 3 o N0.T 3 . e ) ) No_gl_i N .
ORI o ) o 2 g B8 8 8 -
— / P | z M I A E 2
“‘__l r— - -7 | // gL 1.20
’ \ b~ e =l N9
/ —a \ - = ' = =
l@zﬁsﬁﬁ/ @=fREE/ " L1/ \iis
=223. 35m ) Y
7y
4.90 5.00 3.95 275 . 3.40 6.10 _ 2.85 6. 25 _2.55 , 225 3.35 / /
{
< 7/
[E2] o o V
« © e = -
® 7 7 g N =
e=#x® | | | - *
N o = - =1 r— "
8 = = &y FE @ 2 _
o113 3 D=k ' EPPS T I .
= L o4 + + _ - 3 Lo 1 T = o
/N0 9 ) ) o AT N 1 =T —_ mlo o1 PS8
S re— - R R .
I\ | 15
| I E # & (B4-)KBEEBEISE
I l T % 35 Ff| BFHESE—TE - =8t (HImPER0OmaE)
L I B 4| BRI SEEEERR R | 1/250
— — 4
B g £ F K & B 2E| 2/5




OEVEPNT

@ = KEE

iRl RMEEIH=FRKERX

@ =RRH

@ =R KH

4

© = RERAH

@
©,
#Hh BIQ=MKRIE
NO. E 2 S B & R IICEL- 3 i & O=MKE
IO 0) 5.54 0.87 4.8198 i NO. E 0 S & @ & NO. E i 5 & & ®m W
NO. E 0 = & E & m B @ 5.56 3.38 18.7928 NO. u}: ;ﬂ S & @ & ) 4.18 1.96 8.1928 O) 3.43 0. 63 2.1609
® 5.71 2.30 13.1330 ©) 5.56 0. 81 4.5036 ® 5. 68 0.39 2.2152 ® 5.95 1.90 11,3050 ) 4.72 2.76 13.0272
@ 5.96 2.27 13.5292 @ 2.36 0.18 0.4248 ) 6. 11 3.02 18. 4522 ® 2.93 0.06 0.1758 ® 4.72 2.63 12. 4136
® 2.38 0.55 1.3090 ® 3.73 1.54 5. 7442 ® 6.18 0.13 0.8034 = & B 196736 @ 2.92 0.99 2.8908
@ 6.47 2.45 15. 8515 ® 3.73 0.99 3.6927 (@ 9.83 2.74 26.9342 i 9.83680 ® 4.44 1.22 5.4168
5 2.66 0.25 0. 6650 @ 1.85 0.85 1.5725 ® 5.09 2.30 11.7070 ] 98 m ® 1.25 0.24 0. 3000
® 7.05 2.30 16. 2150 & @ & 39. 5504 & @ & 60. 1120 & @ B 36.2093
@ 9.86 3.76 37.0736 & i 19. 77520 il 30. 05600 il 18. 10465
5. 41 2.88 15. 5808 #h & 19.77 m #h 18 30.05 m & 18.10 m
& m & 113. 3571
Al 56. 67855
& 56.67 m
® =Rk FE
— A~ FE
® —FI=K1H N @ —FFR T
=R 0 =FFKFH
N @/
® @\ Lo
@ N
I JCEEEY o
DIECERES: NO. E 2 B & & ®m ® ____
NO. E D B & & m W ©) 2.21 1.10 2.4310 Hh FE O=MRE
@ 3.31 1.49 4.9319 @ 3.73 1.80 6. 7140 #h B O=fKE NO. E 2 &< f& ® &
@ 3.31 1.49 4.9319 & Em & 9. 1450 NO. E 2 B = & ® M ©) 2.94 0.07 0. 2058
& m m 9.8638 & 4.57250 0) 2.71 1.20 3. 2520 @ 4.22 2.17 9.1574
B & 4.93190 #h# 451 m @) 3.41 2.30 7. 8430 ® 4.22 2.45 10.3390
T 493 m & @ M 11.0950 @ 3.11 0.45 1.3995
m i 5. 54750 & m T 21.1017
— A~k — A= b 5564 m m 10. 55085
D=4k FE @ =&k HH 78 1055 m
7’#"
| / ! ®\ ’® \.
RPN
th | Q=RIKE
NO. K 2 B & & m &
@ 2.90 0.22 0.6380
@ 3.33 1.47 4.8951
€ 3.33 1.38 4.5954
@ 3.18 0.12 0.3816
® 4.40 2.18 9.5920 —
® 3.01 0.07 0.2107 HFQO=MRHE _
@ 7.85 3.16 24. 8060 NO. E /g & @
785 018 1 4130 @® 5.63 2.70 15. 2010
© 7.82 3.05 23.8510 @ 5. 63 2.12 15. 3136 I E# 4 G4-)DBEEEIE
425 2.17 9. 2225 @ 5.78 3.52 20. 3456
E T & 79,6053 @ 5.78 2.88 16. 6464 I % %5 f| BETESE—TH - EEMA (HIEPEROBERE)
& 39. 80265 & & 67. 5066 . "
iR 33.75 G £ 3/5




RHR2 Sz 12 (BT

1/250
I SIEQ@ 45on & HYIF R
I SED 450m =48 1=21. 60m (3. 60%6) —
=48 L=13. 95m (3. 60%3+0. 55+2. 60) ® — = © _ —
55 7 o N=g = N |
A —54 2D 15cm Ez N770/ / O gf DE = J_L 15]
#E R =7 35m o all) /{X~% L) F700 ﬁcﬁ T -F7K—\7 y,—k_)[/
& ) Oc— = HEIRWO m T o &
g{ —— U T T T 0 =29 f =T 9 #
EE% - — T gﬁg’?&@@f’%‘(ﬁmj :;Fﬁm o [ @M (93, T8ni ,’é ,’é K #
310 SMAIER@ 15cm NTT< > 7h—JL
ABURD 15on | Ol (4S) =33, 83ri/ o o N < R—)
s LS 5 /8 —H—JL SHXREQ 150m B Eig
(L > H=650) L=2. 10m (0. 75%2+0. 60)
5 \—R—)L
(+ L > H=650)
AR 15om s £I50 45on B EH
B iR 1=3. 40m s L=6. 65m (1. 65+2. 35+. 45+2. 20) . .
U oh < Ul 3, N A
i IS L5 EEHERK NXEY)
ey MM 450m & s
1L 450 & ) 00 a3 Ge6+0.65+2.50:2. 10 (B AU )
R LL eim £ET (BAEBEHEASCI3, t=5cm)
il 28 —54 2@ 15cm
B & L=4. 40m
)\
\M
LET (BAEEREMBHEEH, t=10cm
485 Uk 7 Y IS4 Lsa— b (PK3)
E%%J%z nﬁaz TE IEl E Eﬁ FEEEE T (M30-0, t=3cm)
dE 7 =& EAY
1/250 IRiR2 FHEEIB=/MXKRIER
1/100
25 D=k
11.00 12.15 3.20 ‘ s )
~ )| ",
| 2 E |
o 7o) N ‘ Jichen \ﬂ:
= - s ® ‘ (f& % B AUt )
| + \\ | £BT (EEFHEASCI3, t=5on)
\ = o TIE =
G |
b 8 a i /N - |
- e . - s o / S . F54 50—k (kD)
= = = 8 ) ~ | FEERE T (M30-0, t=3cm)
| IN
r— - - - - - - - = 7
| /
| D=k 7 #h EFE[OD=F K&
o NO. K 32 S B m B
/ r -~ © 13.15 4.10 53. 9150
/ @ 9.66 0.87 8. 4042
/ / ® 7.38 1.79 13.2102
S~ ) 4.87 3.29 16. 0223
~ ® 4.5 3. 44 15. 7208
®) 4.57 1.36 6.2152
@ 3. 46 0.94 3.2524
& m & 116. 7401 -
& B 58. 37005 I EH# 4 (B-NHEEZEBRILE
 H 58.37 i T ¥ 5 | FHTES—TH - SN (AP ERORE)
- B2 MEEOTEN SEEOEME | o o =
A S0 A= AIRME EmmE | T =
B £ T K & B 2E| 4/5




BEHR3 SHE1EIH T E X

1/250
BRI
© tr%— 1=3.5n®
Es[ a0 |25
- I ==
- % i 5 M4l

S)

D ]| #Has#

iRd MEEIHERK - RIEX
1/100

— B % I E R

(7.5 B
B B BT (BEFHEASCI3, t=5cm)
3. 50m

IS4 La— b (PKI)

1.95m x 3.50m = 6.83mi
FREZIE T (M30-0, t=3cm)

I % # & @B-HBEEBEISE

T %= i fr| BRTES—TAE - SEA (MIEPER0OME)

" B MERETEN BAEEHE "
m A 5 15 1B BAEE - SRAAE R

B/ W £ T K EPB 5




